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Month Based Puzzle 
 

Directions (1-5): Study the following information 

carefully to answer the given question:  

Seven People L, S, K, M, H, C and I have a Interview on 

seven different months (of the same year), namely 

January, February, March, April, May, July and 

Augustbut not necessarily in the same order inand each 

of them have interview in different city namely Indore, 

Delhi, Mumbai, Chennai, Goa, Raipur and Pune but not 

necessarily in the same order. The one who has interview 

in Raipur has in a month which has less than 30 days. K 

has interview in a month which has less than 31 days. 

Only two people have interview between K and M. M 

has interview immediately before the one who has 

interview in Chennai. S has interview immediately after 

the one who has interview in Raipur. Only three people 

have interview between S and the one who has interview 

in Delhi. H has interview immediately before L. Ihas 

interview in Pune. The person whose interview in Goa in 

the month which has less than 31 days.The one who has 

interview immediately after February monthnot in the 

city Indore. 

1. As per the given arrangement, Iis related to 

Raipur and S is related to Goa in a certain way. 

Which of the following is M related to in the same 

way? 

(a) Chennai 

(b) Indore 

(c) Delhi 

(d) Mumbai 

(e) Raipur 
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2. In which of the followingcity does C have his 

interview? 

(a) Raipur 

(b) Mumbai 

(c) Goa 

(d) Indore 

(e) Delhi 

3. How many people has/have Interview between the 

month in which H and K have? 

(a) None 

(b) 2 

(c) 1 

(d) 3 

(e) 4 

4. Who among the following have Interview in 

January and May respectively? 

(a) K, S 

(b) S, C 

(c) C, M 

(d) M, H 

(e) I, M 

5. In which of the following months does M have his 

interview? 

(a) January    

(b) May 

(c) July 

(d) August 

(e) Cannot be determined 

Directions (6-10): Study the following information 

carefully to answer the given question:  

There are seven persons namely Virat, Rahul, Sachin, 

Kapil, Saina, Sania and Mithali. They studying in 

different college have exams in different months of the 

year viz. January, March, May, July, August, October, 

December not necessarily in the same order. No two 

persons have a exam on the same month of the year. 

Three persons have exam between the months in which 

Virat and Kapil have. Neither Mithali nor Sania has a 

exam on January and December. Only one person has a 

exam between the months in which Sania and Mithali 

has. There are more than two persons who have exams 

between the months in which Rahul and Sachin have. 

Sachin has exam neither in March nor in May. Virat has 

a exam before Kapil but not in May. Rahul has a exam in 

December 

6. Who among the following has a exam in July? 

(a) Sania 

(b) Mithali 

(c) Saina 

(d) Either (b) or (c) 

(e) None of these 

7. On which of the following month Mithali has 

exam? 

(a) May 

(b) August 

(c) July 

(d) Can’t be determined 

(e) None of these 

8. Which among the following statements is true? 

(a) Two persons have exam between Kapil 

andSachin. 

(b) Saina has exam before Sachin. 

(c) Sania has exam in May. 

(d) Virat doesn’t have exam in March 

(e) None of these 

9. If Sania has exam in August. Then, who among the 

following has exam immediately before Mithali? 
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(a) Sachin 

(b) Virat 

(c) Kapil 

(d) Can’t be determined 

(e) None of these 

10. Four of the five are alike in a certain way and 

hence form a group. Find the one that doesn’t belong 

to that group. 

(a) Virat, Sachin 

(b) Kapil, Rahul 

(c) Saina, Sania 

(d) Mitahli, Sania 

(e) Mithali, Saina 

Directions (11-15): Study the following information 

carefully to answer the given question:  

Twelve friends M, N, O, P, Q, R, S, T, U, V, W and X 

were going for picnic in different months of the same 

year. From January to December.M goes to picnic in the 

month which has least number of days. S goes to picnic 

in the month of July. V was going to picnic immediately 

after the month in which W goes and immediately before 

the month in which O goes. V goes to picnic neither in 

the month of September nor in April. There is a gap of 

three months between the one who goes picnic between 

X and N. There were 31 days in the month in which X 

goes to picnic. P goes to picnic before the month in 

which U goes. There is a gap of two month between the 

month in which N and R goes. Q and T were goes to 

picnic in that months which had 30 days each.There were 

30 days in the month in which N goes to picnic. 

11.  In which of the following months Vgoes to picnic? 

(a) December 

(b) June 

(c) March 

(d) November 

(e) September 

12. Four of the following five are alike in a certain 

way and hence form a group. Which one of the 

followingdoes not belong to that group? 

(a) P 

(b) U 

(c) S 

(d) X 

(e) V 

13. Who among the following goes picnic in the 

month of June? 

(a) M 

(b) P 

(c) Q or T 

(d) U 

(e) X 

14. How many friends go to picnic after S? 

(a) None 

(b) Three 

(c) Four 

(d) Five 

(e) Six 

15. How many goes to picnic between W and M? 

(a) 2 

(b) 3 

(c) 4 

(d) 6 

(e) 7 
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Directions (16-20): Study the following information 

carefully to answer the given question:  

There are seven employees of a company-E, F, G, H, I, J 

and K goes to different water park for vacation i.e., Fun 

and food, Dream world, Wonderlands. Each of them 

goes on different months of the year i.e.  February, 

March, April, May, June, July and August. Minimum 

two people goes to each water park and Fun and Food is 

the only city to which three people goes. E goes to Fun 

and food on March. I go to Dream world but neither on 

July nor on April. J goes on August but not to 

Wonderlands. The one who goes to Wonderland goes on 

May. H goes on June. K goes to Fun and Food but not on 

April. F neither goes to Wonderland nor Fun and food. I 

do not go after K. 

16. Which of the following employees goes Water 

Park in July?  

a. E 

b. F 

c. G 

d. I 

e. K  

17. Which one of the following combinations is true 

according to the given information? 

(a) E –April– Dream world     

(b) G –March– Fun & Food  

(c) H –June – Wonderland  

(d) J – July – Wonderland  

(e) None of the above is true  

18. If everyone’s postponed their vacation by one 

month, who will be going on March?  

(a) I 

(b) F 

(c)  E 

(d) G 

(e) None of these  

19. On which month and to which water park does K 

go?  

(a) March, Fun & Food     

(b) May, Wonderland  

(c) July, Fun & food  

(d) June, Dream world  

(e) None of these  

20. Who among the following employee goes for 

vacation on April? 

(a) I 

(b) E 

(c) F 

(d) H 

(e) K 

Directions (21-25): Study the following information 

carefully to answer the given question:  

Six Bride grooms P, Q, R, S, T and U married within a 

Year in the months March, May, June, August, 

September and December. The Brides are A, B, C, D, E 

and F. All of them got married in different Place of India 

as Goa, Mumbai, Delhi, Chennai, Hyderabad and 

Lucknow. All the information is not necessarily in same 

order. The following are some facts about their 

marriages. R’s wedding took place in the month of 

August but neither in Goa nor in Hyderabad, however he 

was not married A or F. P’s wedding took place in 

Mumbai and T’s wedding in Lucknow, but P was not 

married to B or D. The wedding in Lucknow took in the 

month which has 30days. The Bride C’s wedding took in 

the month of which has 31days, but in Goa. E and A got 

married in the month which has 31 and 30 days 
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respectively and in Delhi and Lucknow, but not 

necessarily in same order. S's marriage was held in the 

month of March. U was married to B but not in 31 days 

month. Q’s marriage did not take place in neither 

Chennai nor Goa. D’s marriage took place in Hyderabad. 

The couple whose married are in the month of March 

and December not took place in Mumbai. Bride T is not 

married after R. 

21. In which month does B’s married?  

(a) March   

(b) May 

(c) June  

(d) December 

(e) September  

22. In which City D’smarried?  

(a) Chennai 

(b) Hyderabad 

(c) Delhi  

(d) Lucknow    

(e) Goa  

23. Which of the following combinations of Bride - 

Groom - month is correct? 

(a) A - Q - June  

(b) B- U- September  

(c) Q- C- May 

(d) P- F- March 

(e) None of these  

24. Q married in which place and in which month?  

(a) Hyderabad, December  

(b) Lucknow, August  

(c) Goa, May  

(d) Chennai, December  

(e) None of these  

25. Who is married to R?  

(a) A 

(b) B 

(c) C 

(d) E 

(e) Can’t be determine 

Directions (26-30): Study the following information 

carefully to answer the given question:  

Seven persons A, B, C, D, E, F and G are born in 

different months viz., February, April, June, August, 

October, November and December in the same year. 

Each of them likes a different fruits viz., Apple, banana, 

Grape, Orange, Guava, Pineapple, Litchi but not 

necessary in the same order. B was born in the month of 

which has 31 day but not in October and does not like 

either litchi or Banana. C likes apple and was not born in 

the month which have 31 days. E was born in the month 

which has least number of days and likes Grape. The one 

who likes Guava was born in the month of November. D 

was born in the month which has 31days but he is not 

youngest. G likes Pineapple. A was not born in the 

month of November. The one who likes Banana was 

born in the month which has 30days but not in April. The 

one who like pineapple fruit born after the one who like 

Litchi. The person who likes Orange does not born after 

pineapple.  

26. F was born in which of the following months?  

(a) November 

(b) December  

(c) June 

(d) October 

(e) None of these  
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27. A likes which of the following Fruit?  

(a) Grape  

(b) Apple  

(c) Banana 

(d) Orange 

(e) None of these 

28. In a certain way E is related to Banana and C is 

related to Orange. Then D is related to which of 

the following?  

(a) Orange 

(b) Litchi 

(c) Guava 

(d) Pineapple 

(e) None of these  

29. Which of the following combinations is not 

correct?  

(a) April-C-Apple 

(b) August-B- Orange 

(c) October-D-Litchi 

(d) December –G-Pinneaple 

(e) All are correct  

30. Who was born in the month of October?  

(a) A 

(b) B 

(c) D 

(d) F 

(e) G 

Directions (31-35): Study the following information 

carefully to answer the given question:  

Eight persons E, F, G, H, I, J, K and L are born in 

different months of the same year viz., January, 

February, March, April, June, August, September and 

November but not necessary in the same order. 

K is born in one of the months which have 30 days 

before September. Three persons are born between L and 

K. Only two persons are born between L and G. As many 

as persons are born after G is two less than the number of 

persons born before E. As many persons born between G 

and I is one more than the number of persons born 

between H and G. J is born in one of the months before 

H. F is older than H. 

31. Who among the following is the eldest person? 

(a) E 

(b) I 

(c) F 

(d) J 

(e) Can’t be determined 

32. E was born in which of the following months? 

(a) June 

(b) August 

(c)  September 

(d) November 

(e)  None of these 

33. How many persons are born between H and I? 

(a) One  

(b) Two 

(c) Three  

(d) More than three  

(e) None 

34. Who among the following is immediately after F? 

(a) I 

(b) K 

(c) G 
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(d) E 

(e) Can’t be determined 

35. Four of the following five are alike in a certain 

way and hence form a group.Which of the 

following onethat does not belong to the group? 

(a) K 

(b) G 

(c) H 

(d) L 

(e) E 

Directions (36-40): Study the following information 

carefully to answer the given question: 

Seven persons Q, R, S, T, U, V and W are going to USA 

for vacation in seven different months of the same year 

i.e. March, April, May, June, July, September and 

October but not necessary in same order. 

T goes in the month which has odd number of days. 

Three persons go between T and W. R goes before T. 

Less than two people go between T and S. V goes just 

before S. Not less than to two persons go between R and 

W. Q does not go in the month which has even number 

of day. S does not go in July.R does not go for vacation 

before Q. W and V are not immediate neighbour. 

36. In which of the following month R goes? 

(a) June 

(b) April 

(c) August 

(d) March 

(e) None of these 

37. Who of the following person goes on April? 

(a) U 

(b) R 

(c) T 

(d)V 

(e) None of these 

38. How many persons go between V and U? 

(a) Three 

(b) Two 

(c) Four 

(d) Five 

(e) None of these 

39. Four of the following five are alike in certain way 

based from a group, find the one that does not 

belong to that group? 

(a) W 

(b) Q 

(c) T 

(d) S 

(e) V 

40. Which of the following person goes just before Q? 

(a) W 

(b) U 

(c) R 

(d) T 

(e) None of these 

Directions (41-45): Study the following information 

carefully to answer the given question: 

Eight persons i.e. A, B, C, D, E, F, G and H are celebrate 

their anniversary in different months i.e. January, 

February, April, May, June, July, August and September. 

Each of them likes different flower i.e. Rose, Lily, Dairy, 
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Tulip, Lotus, Orchid, Sunflower and Iris. All information 

is not necessarily in the same order.  

Not less than three people born between C and the one 

who likes lotus, both persons born in month having 30 

days. B born in June and likes Dairy. The person who 

likes Tulip born just after the one who likes Orchid. H 

does like Tulip. Only four persons born between E and 

the one who likes Sunflower. Number of persons born 

after the one who likes Iris and before the one who likes 

Dairyis same. E born in month having 30 days and after 

the person who likes Sun flower. F born after D but 

before H but not just before and after. A born in the 

month having 31 days and does like Rose. No one born 

between A and the one who likes Lily. Both D and F 

were born before G. G was not born in month of august.  

41. How many persons were born in between G and 

D?  

(a) Five  

(b) Two  

(c) Four  

(d) Three  

(e) None  

42. D born in which of the following month? 

(a) February 

(b) April  

(c) May  

(d) January  

(e) None of these  

43. Who among the following person were born in 

May?  

(a) B 

(b) G 

(c) H 

(d) F 

(e) E 

44. Who among the following person like Iris Flower?  

(a) A 

(b) D 

(c) C 

(d) F 

(e) None of these  

45. Which of the following combination is true?  

(a) C-lily 

(b) B-Iris 

(c) H-Tulip 

(d) G-Lotus 

(e) None of these 

Directions (46-50): Study the following information 

carefully to answer the given question: 

Ten friends P, Q, R, S, T, U, V, W, X, Y and Z who had 

celebrated their birthday in the same year were No two 

persons have celebrate their birthday in the same month 

of a year and neither of the friends had birthday in the 

months From Januaryto October. 

P was the Last person to celebrate his birthday. R will 

celebrate his birthday not in the 30 days and maximum 

number of days. At most 2 persons have their birthday 

after V. V was celebrated his birthday just after W and 

just before X. The birthday of Q is before that of X. The 

birthday of T is after the birthday of U and before the 

birthday of S. The birthday months of T and Y have 30 

days. 

46. Who among the following Celebrate his birthday 

in May? 

(a) U 

(b) Q 
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(c) T 

(d) S 

(e) R 

47. Four of the five are alike in a certain way and 

thusform a group. Find the option which does not 

belongto the group. 

(a) U 

(b) Q 

(c) S 

(d) W 

(e) R 

48. How many persons will celebrate theirBirthday  

betweenS and P? 

(a) 1 

(b) 2 

(c) 3 

(d) 4 

(e) 5 

49. Who was the First person to celebrate his 

birthday among theten friends? 

(a) U 

(b) Q 

(c) R 

(d) S 

(e) Can’t be determined 

50. Identify the true statement among the following. 

(a) The Birthday of Y is in May. 

(b) V had birthday before T. 

(c) W has his birthday in October. 

(d) X will celebrate his birthday after T. 

(e) The month of V's birthday has 30 days. 

 

 

  

Solution and Detailed Explanation 

SOLUTION (1-5): 

1. The one who has interview in Raipur has in a 

month which has less than 30 days.  

2. K has interview in a month which has less than 

31 days.  

3. Only two people have interview between K and 

M.  

4. M has interview immediately before the one who 

has interview in Chennai. 

 

 

5. S has interview immediately after the one who 

has interview in Raipur.  

6. Only three people have interview between S and 

the one who has interview in Delhi. 
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7. The person whose interview in Goa in the month 

which has less than 31 days. 

 

8. H has interview immediately before L. 

9. I has interview in Pune. 

10. The one who has interview immediately after 

February month is not in the city Indore. 

 

Final Arrangement 

 

1.a 

2.c 

3.d 

4.e 

5.b 

Solution 6-10 

1. Rahul has a exam in December 

2. Three persons have exam between the months in 

which Virat and Kapil have. 

3. Virat has a exam before Kapil but not in May. 

Months Case 1 Case 2 

January Virat  

March  Virat 

May   

July   

August Kapil  

October  Kapil 

December Rahul Rahul 

 

4. Neither Mithali nor Sania has a exam on January and 

December. 

5. Only one person has a exam between the months in 

which Sania and Mithali has 

Month

s 

Case 1 Case 1.1 Case 2 

Januar

y 

Virat Virat  

March  Mitahli / Sania Virat 

May   Mithali / 

Sania 

July Mithali / 

Sania 

Sania / Mitahli  

August Kapil Kapil Sania / 

Mithali 
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Octobe

r 

Sania / 

Mithali 

 Kapil 

Decem

ber 

Rahul Rahul Rahul 

 

6. There are more than two persons who have exams 

between the months in which Rahul and Sachin have 

 

 

7. Sachin has exam neither in March nor in May. 

(Case 1, Case 1.1 and Case 1.2 get wrong) and in Case 

2, remaining seat will be occupied by  

Saina. Thus, the final arrangement will be as follows: 

Months Case 2 

January Sachin 

March Virat 

May Mithali / Sania 

July Saina 

August Sania / Mithali 

October Kapil 

December Rahul 

 

6. C 

7. D 

8. E 

9. B 

10. D 

SOLUTION (11-15): 

1. M goes to picnic in the month which has least 

number of days.  

2. S goes to picnic in the month of July.  

3. V was going to picnic immediately after the month 

in which W goes and immediately before the month 

in which O goes.  

4. V goes to picnic neither in the month of September 

nor in April. 

 

5. There is a gap of three months between the one who 

goes picnic between X and N.  

6. There were 31 days in the month in which X goes to 

picnic 

7. There were 30 days in the month in which N goes to 

picnic 
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8. Q and T were goes to picnic in that months which 

had 30 days each. 

 

9. There is a gap of two month between the month in 

which N and R goes.  

 

10. P goes to picnic before the month in which U. 

 

FINAL ATRRANGEMENT 

 

11.d 

12.e (In this Number of days is 30) 

13.c 

14.d 

15.e 
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SOLUTION (16-20): 

1. E goes to Fun and food on March 

2. J goes on August  

3. The one who goes to Wonderland goes on May.  

4. H goes on June 

 

5. I go to Dream world but neither on July nor on 

April. 

6. K goes to Fun and Food but not on April. 

7. I do not go after K. 

 

8. F neither goes to Wonderland nor Fun and food. 

9. J not goes to Wonderlands. (Means J go to either fun 

& food or Dream world) 

 

Final Arrangement 

 

16.e 

17.c 

18.a 

19.c 

20.c 

SOLUTION (21-25): 

1. R’s wedding took place in the month of August but 

neither in Goa nor in Hyderabad, however he was 

not married A or F. 

2. S's marriage was held in the month of March. 
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3. U was married to B but not in 31 days month. 

 

 

 

4. E and A got married in the month which has 31 and 

30 days respectively and in Delhi and Lucknow, but 

not necessarily in same order. 

5. T’s wedding in Lucknow,  

6. The wedding in Lucknow and took in the month 

which has 30days. 

7. Bride R and T not married in consecutive months. 

 

 

8. P’s wedding took place in Mumbai 

9. The couple whose married are in the month of 

March and December not took place in Mumbai. 

 

10. The Bride C’s wedding took in the month of which 

has 31days, but in Goa. 

11. Q’s marriage did not take place in neither Chennai 

nor Goa. 

12. D’s marriage took place in Hyderabad. 

 

Final Arrangement 
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21.e 

22.b 

23.b 

24.a 

25.d 

SOLUTION (26-30): 

1. B was born in the month of which has 31 day but 

not in October 

2. E was born in the month which has least number of 

days and likes Grape. 

3. The one who likes Guava was born in the month of 

November. 

 

4. The one who likes Banana was born in the month 

which has 30days but not in April 

5. C likes apple and was not born in the month which 

have 31 days. 

 

6. D was born in the month which has 31days but he is 

not youngest.  

7. G likes Pineapple. 

8. The one who like pineapple fruit born after the one 

who like Litchi. 

 

9. The person who likes Orange does not born after 

pineapple.  

10. A was not born in the month of November. 
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Final Arrangement  

 

26.a 

27.c 

28.d 

29.e 

30.c 

SOLUTION (31-35): 

1. K is born in one of the months which have 30 days 

before September.  

2. Three persons are born between L and K. 

3. Only two persons are born between L and G. 

 

4. As many as persons are born after G is two less than 

the number of persons born before E. 

 

5. As many persons born between G and I is one more 

than the number of persons born between H and G.  

6. J is born in one of the months before H.  

7. F is older than H. 
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Final Arrangements 

 

31.e 

32.b 

33.d 

34.e 

35.e 

 

 

SOLUTION (36-40): 

1. T goes in the month which has odd number of days.  

2. Three persons go between T and W.  

 

3. R goes before T.  

4. Not less than to two persons go between R and W. 

 

 

5. Less than two people go between T and S.  

6. V goes just before S. 

7. S does not go in July. 
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8. Q does not go in the month which has even number 

of day.  

9. R does not go for vacation before Q. 

 

Final Arrangements 

 

 

36.a 

37.a 

38.a 

39.e 

40.b 

SOLUTION (41-45): 

1. Only four persons born between E and the one who 

likes Sunflower. 

2. E born in month having 30 days and after the person 

who likes Sun flower. 

3. Number of persons born after the one who likes Iris 

and before the one who likes Dairy is same.  

4. B born in June and likes Dairy. 

 

5. Not less than three people born between C and the 

one who likes lotus, both persons born in month 

having 30 days. 

6. The person who likes Tulip born just after the one 

who likes Orchid. 
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7. F born after D but before H but not just before and 

after. 

8. A born in the month having 31 days and does like 

Rose. 

9. Both D and F were born before G. 

10. G was not born in month of august 

11. No one born between A and the one who likes Lily 

12. A born in the month having 31 days and does like 

Rose 

 

Final Arrangements 

 

41.d 

42.a 

43.d 

44.d 

45.c 

SOLUTION (46-50): 

1. P was the Last person to celebrate his birthday.  

2. R will celebrate his birthday not in the 30 days and 

maximum number of days.  

3. At most 2 persons have their birthday after V.  

4. V was celebrated his birthday just after W and just 

before X. 
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5. The birthday months of T and Y have 30 days. 

6. The birthday of T is after the birthday of U and 

before the birthday of S 

 

7. The birthday of Q is before that of X. 

 

FINAL ARRANGEMENTS  

 

46.d 

47.e 

48.d 
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